w
Numeracy for Learning, Life and Work "

wrd Level

Number and Number Process

RIGOUR

by cdmasterworks Ltd

MNU 3-03b ’

Bronze

()

Answers

Answers

March CfE &™ Level Calendar
#abitofmathseveryday

Calculate

27+13
9 4

2

Factorise
the following
expression...

20 —16m

3 Calculate the

range of the

following
data set...

4,1,-3,7,0,-5

4 Multiply out the
following brackets
and simplify...

4(2x — 6) + 19

5

Express — as
press 1
a decimal

6
Calculate
314 x 159

7 Solve the

following
equation...

8x+15=4-3x

10
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